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QUESTION 1

Which statement is true about editing adapter InteractionSpec endpoint properties with Enterprise manager Fusion
Middleware Control? 

A. InteractionSpec properties can be added or removed, but they take effect only after the composite is retired and
activated. 

B. Adapter endpoint property values can be changed, but they take effect only after the composite is retired and
activated. 

C. Adapter endpoints property values can be changed, and they take effect without retiring and activating the
composite. 

D. InteractionSpec property values cannot be changed. 

Correct Answer: C 

*

 The InteractionSpec or ActivationSpec Properties Properties in this group require the adapter endpoint to be recycled.
The values of properties in this group can be changed from the EM console. However, property-dependency constraint
validation requires that Oracle JDeveloper be used to make changes (adding or removing) to the composition of these
properties. 

*

 The InteractionSpec or ActivationSpec Properties These properties require the adapter endpoint to be recycled. For
properties in this group, you can change their values from the EM console. However, to change the composition (add or
remove) of these properties, you must use Oracle JDeveloper because of property-dependency constraint validation. 

 

QUESTION 2

Identify the statement that describes an ESB. 

A. An ESB provides a mediation layer between services and consumers. 

B. An ESB facilitates a point-to-point approach to application integration. 

C. An ESB is an execution engine providing Java EE capabilities. 

D. An ESB makes service provider addresses visible to service consumers. 

Correct Answer: A 

*

 An enterprise service bus (ESB) is a software architecture model used for designing and implementing the interaction
and communication between mutually interacting software applications in service-oriented architecture (SOA). As a 

software architecture model for distributed computing it is a specialty variant of the more general client server software
architecture model and promotes agility and flexibility with regards to communication and interaction between
applications. Its primary use is in enterprise application integration (EAI) of heterogeneous and complex landscapes. 

1Z0-478 VCE Dumps | 1Z0-478 Practice Test | 1Z0-478 Braindumps                                2 / 5

https://www.lead4pass.com/1Z0-478.html
https://www.lead4pass.com/1Z0-478.html
https://www.lead4pass.com/1Z0-478.html


https://www.lead4pass.com/1Z0-478.html
2021 Latest lead4pass 1Z0-478 PDF and VCE dumps Download

*

 An enterprise service bus (ESB) is a software architecture for middleware that provides fundamental services for more
complex architectures. For example, an ESB incorporates the features required to implement a service-oriented
architecture (SOA). In a general sense, an ESB can be thought of as a mechanism that manages access to applications
and services (especially legacy versions) to present a single, simple, and consistent interface to end-users via Web- or
forms-based client-side front ends. 

 

QUESTION 3

By using the System Component Architecture (SCA) test framework, you can create tests for which three items? 

A. Reference binding components 

B. Service components like a Mediator 

C. Wires 

D. Invoke activities in a BPL process 

E. Composite sensors 

Correct Answer: ABC 

The test framework supports testing at the SOA composite application level. In this type of testing, wires (C), service
binding components, service components (such as BPEL processes and Oracle Mediator service components) (B), and
reference binding components (A) are tested. 

 

QUESTION 4

Which three statements are true about enabling streaming support in adapters? 

A. Enabling streaming allows larger payloads to be read by the adapters. 

B. Enabling streaming improves message throughput and latency. 

C. Enabling streaming leverages features of the scalable DOM in Oracle XML Developer Kit (XDK). 

D. The benefits of enabling streaming are better when payloads are of relatively large. 

Correct Answer: ACD 

Streaming Large Payload 

To enable support to stream payload, you must select the Enable Streaming check box while specifying polling options.
When you enable this feature, the payload is streamed to a database instead of getting manipulated in SOA run time as
in a memory DOM. You use this feature while handling large payloads. When you select the Enable Streaming check
box, a corresponding Boolean property StreamPayload is appended to the ActivationSpec properties defined in the
respective .jca file. 

 

QUESTION 5
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Identify the correct description of a business service. 

A. It is a service that is closely aligned with the goals of the business. 

B. It is metadata about an external service interface that enables Oracle Service Bus to integrate with the external
service. 

C. It is programmable entity that enables Oracle Service Bus to connect to a Wide variety of interfaces. 

D. It is a complicated object that often takes days or weeks to implement, but it is highly scalable and reliable after it is
complete. 

Correct Answer: B 
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